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1 (14%) |
- (a) What s the deﬁmtmn of an algorithm?

(b) Do the follsmng mstructmns describe an algorithm? explain your answer.
| Step 1: Build a list of all even positive integers.
Step 2: remove the smallest integer from the list
Step 3: if the list s not empty, return to step 2.

2. Convert each of the following decimal representations to its equivalent two’s

- complement form using patterns of two bytes. Expression your answer in hexadecimal

notation. (12%) v :
(a) 765 (b) -..3033 (c) 40000

3. What 1S & linker? What S 1§ an 1oader? Make your answer as detailed as possible.
(12%) § o |

4. Compare CISC and RISC amlmecmes; (12%)

5. Desmgn an algorithm to ﬁnd the square root of a positive number by starting with
the number itself as the first guess and repeatedly producing a new guess from the

- previous one by averaging the previous guess with the result of dividing the original

number by the previous guess (15%)

(a) use pseudo—code to describe your al gonthm
(b) derive the flow chart of (a)

(c) what’s the proper the termmatmn condition of such an algorithm-?

6. (20%)

(a) Wnte: a program based on recursive structure to find the greatest common
divisor of two positive integers. by using the Euclidean algorithm. Use any
programming Ianguage you familiar with:

(b) Take 96 and 60 as a test example to demonstrate the correctness of your
y program o | | |

ﬂ’f! | | |
7. Basé on 1he object—onented devc]opmg, enwronment describe the concepts of

enmpsulahon palymt)rphmm and generic programmmg (15%)




